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1 |FYTURILVRIE () 4 18,783
2 (R VOMYRIE 5 16,098
3 |YU DA TYIGER) 4 15,514
4 [BNAIE () 3 14,881
5 (A #HBRAZE 1 13,868
6 |HBAIRERE () 2 13,693
7 Bl (%) 2 10,402
8 B YLk () 2 10,285
9 |[BRR—V—TVY 2 7,937
10 (&) ko broBdfiTEkat 1 6,617
11 [AOBATH+EL LY (#) 2 5,453
12 [(BR)ARIRBIEERET 2 4,356
13 |(%) BAREMa S LEsk 1 3,227
14 |ZERERYT—ERGR) 1 3,151
15 | (%) AlBAFEaHLEU b 1 2,618
16 [(B) 4Rk 1 1,893
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1 (B RIF R R E 11 56210 | 21 [(BRIBILEESHHRESEHHN 1 3,300
2 [(\)BIFNERARERE 9 49,779 22 | BBREERAEHBR 2 3,232
3 |\ BERBEHRAEHA 2 24,915 23 (%) REIRA R EIRR TR 1 3,190
4 |TRA=vTa () 1 23,954 24 |(B) ENIRE 1 2,002
5 (B0 RHBEHRHEHA 2 20,516
6 |(BR)MNEERFEHR 3 18,902
7 (BR) - 3Rat 3 15,433
8 |(kR)IEEIERER MR R 3 12,287
9 | ITUTSREERHBHER 2 11,528
10 |(A)PEREERFEHH 1 10,307
" ((BETILEKE 2 9,977
12 |(B)T7A8TLT— 1 9,656
13 | FTELEREEHRM 1 8,800
14 |(BA)YA—T+—EEREMR 1 8,195
15 |(BA) 7L I7HrEREt 2 7,317
16 |(B0) ABH—BENEEEBH 2 6,050
17 |(B) T—ILFBRERERR 1 5,771
18 |(K) BREHXEHA 1 5,599
19 (BR) T — I\ RR—RBERH B 1 4,664
20 ((#R)EUERE 1 4,411
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1 B E (%) 5 85,889 21 | (kR BIsBARED Y ILEU b 1 3,053
2 |REVELIDSZTILY(#R) 8 73,949
3 |(R) REEMTHKE 6 49,979
4 |(B)3I—Y 8 47,897
5 (R EHEIVHIL 5 44,158
6 B TAaAvHILEY 3 29,436
7 |FHRIVS=TILT k) 3 24,494
8 (BR) ERAKEIVHILEUE 1 23,650
9 |(B)EEREFRaVHILEVE 1 22,310
10 |BBEI =TT 3 18,480
[ (R) AKERET 1 17,444
12 | REREBaVHIILEUE 1 14,416
13 [ (&) RFNERET 2 14,367
14 (&) o broBiTERE 3 13,845
15 | (#k)CMS 2 12,168
16 |(B)BIFEL 3 9,460
17 |&)TH/54X 2 9,302
18 |FIEIVO=TULYT () 1 5918
19 [ RMIVHIILEUE 1 4,929
20 |(B)ERRRIZIVYILEVE 1 3,911
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